

Proof. case (i) : If $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) \neq \emptyset$ and $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i-1) = \emptyset$ then by theorem 3.3 (i), we have $\mathcal{G}_{e_k}(P_n^*, i) = \mathcal{G}_{e_k}(P_n^*, n) = \{2, 4, 6, \dots, 2n\}$. Therefore, $g_{e_k}(P_n^*, i) = 1$. Also, $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) = \mathcal{G}_{e_k}(P_{n-1}^*, n-1) = \{2, 4, 6, \dots, 2n-2\}$. Therefore, $g_{e_k}(P_{n-1}^*, i-1) = 1$. $g_{e_k}(P_n^* - \{2n\}, i-1) = 0$. Therefore, the theorem holds.

case(ii). If $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) = \emptyset$ and $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i-1) \neq \emptyset$ then by theorem 3.3 (ii), we have $\mathcal{G}_{e_k}(P_n^*, i) = \mathcal{G}_{e_k}(P_n^*, 2n-2) = \{2, 4, 5, 6, \dots, 2n\}$. Therefore, $g_{e_k}(P_n^*, i) = 1$. Also, $g_{e_k}(P_n^* - \{2n\}, i-1) = g_{e_k}(P_n^* - \{2n\}, 2n-3) = \{2, 4, 5, 6, \dots, 2n-1\}$. Therefore, $g_{e_k}(P_n^* - \{2n\}, i-1) = 1$. Also, $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) = \emptyset$. Therefore, the theorem holds. .

case(iii) : If $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) \neq \emptyset$ and $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i-1) \neq \emptyset$ then by theorem 3.3 (iii), we have, $\mathcal{G}_{e_k}(P_n^*, i) = A_1 \cup A_2$ where $A_1 = \{X \cup \{2n\} / X \in \mathcal{G}_{e_k}(P_{n-1}^*, i-1)\}$ and $A_2 = \{X \cup \{2n\} / X \in \mathcal{G}_{e_k}(P_n^* - \{2n\}, i-1)\}$. Therefore $|A_1| = |g_{e_k}(P_{n-1}^*, i-1)|$ and $|A_2| = |g_{e_k}(P_n^* - \{2n\}, i-1)|$. Since for every $X_1 \in A_1$ and $X_2 \in A_2$, we have $2n-1 \in X_2$ but $2n-1 \notin X_1$. Therefore, $A_1 \cap A_2 = \emptyset$. Hence, $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_n^* - \{2n\}, i-1)$

Table 1. $g_{e_k}(P_n^*, i)$ and $g_{e_k}(P_n^* - \{2n\}, i)$

I	2	3	4	5	6	7	8	9	10	11	12	13	14
P_2^*	1												
$P_3^* - \{6\}$	0	1											
P_3^*	0	1	1										
$P_4^* - \{8\}$	0	0	1	1									
P_4^*	0	0	1	2	1								
$P_5^* - \{10\}$	0	0	0	1	2	1							
P_5^*	0	0	0	1	3	3	1						
$P_6^* - \{12\}$	0	0	0	0	1	3	3	1					

P_6^*	0	0	0	0	1	4	6	4	1				
$P_7^* - \{14\}$	0	0	0	0	0	1	4	6	4	1			
P_7^*	0	0	0	0	0	1	5	10	10	5	1		
$P_8^* - \{16\}$	0	0	0	0	0	0	1	5	10	10	5	1	
P_8^*	0	0	0	0	0	0	1	6	15	20	15	6	1

Remark:

By similar way we can construct edge fixed geodominating sets for other similar non-pendant edges.

Theorem 3.6. Let e_k be a non-pendant edge which is common to both \mathfrak{A} and $\mathfrak{Q} - \{\mathfrak{B}\}$. Then;

- (i) For every $n \geq 3$, $G_{e_k}(P_n^*, x) = x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)]$ with the initial values $G_{e_k}(P_2^*, x) = x^2$ and $G_{e_k}(P_3^* - \{6\}, x) = x^3$.
- (ii) For every $n \geq 4$, $G_{e_k}(P_n^* - \{2n\}, x) = x[G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)]$ with the initial values $G_{e_k}(P_2^*, x) = x^2$ and $G_{e_k}(P_3^* - \{6\}, x) = x^3$.
- (iii) For every $n \geq 4$, $G_{e_k}(P_n^*, x) = x^n(1+x)^{n-2}$, $G_{e_k}(P_n^* - \{2n\}, x) = x^n(1+x)^{n-3}$.

Proof of (i). By theorem 3.5,

$$\begin{aligned} \sum_{i=n}^{2n-2} g_{e_k}(P_n^*, i) x^i &= \sum_{i=n}^{2n-2} g_{e_k}(P_{n-1}^*, i-1) x^i + \sum_{i=n}^{2n-2} g_{e_k}(P_n^* - \{2n\}, i-1) x^i \\ G_{e_k}(P_n^*, x) &= x \left[\sum_{i=n}^{2n-2} g_{e_k}(P_{n-1}^*, i-1) x^{i-1} + \sum_{i=n}^{2n-2} g_{e_k}(P_n^* - \{2n\}, i-1) x^{i-1} \right] \\ &= x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)] \end{aligned}$$

Proof of (ii). By theorem 2.5,

$$\begin{aligned} g_{e_k}(P_n^* - \{2n\}, i) &= g_{e_k}(P_{n-2}^*, i-2) + g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \\ \sum_{i=n}^{2n-3} g_{e_k}(P_n^* - \{2n\}, i) x^i &= \sum_{i=n}^{2n-3} g_{e_k}(P_{n-2}^*, i-2) x^i + \sum_{i=n}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) x^i \\ G_{e_k}(P_n^* - \{2n\}, x) &= x^2 \left[\sum_{i=n}^{2n-3} g_{e_k}(P_{n-2}^*, i-2) x^{i-2} + \sum_{i=n}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) x^{i-2} \right] \end{aligned}$$

$$= x^2[G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)] .$$

Proof of (iii) We shall prove both equalities together by induction on n . The result is true for $n = 4$, because $G_{e_k}(P_4^*, x) = x^4(1+x)^{4-2} = x^4 + 2x^5 + x^6$.

$G_{e_k}(P_4^* - \{8\}, x) = x^4(1+x)^{4-3} = x^4 + x^5$. Assume that the result is true for all natural numbers less than n . We prove the result for n . We have $G_{e_k}(P_{n-1}^*, x) = x^{n-1}(1+x)^{n-3}$ and $G_{e_k}(P_{n-1}^* - \{2n-2\}, x) = x^{n-1}(1+x)^{n-4}$.

Now by part (i) and induction hypothesis,

$$\begin{aligned} G_{e_k}(P_n^*, x) &= x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)] \\ &= x[x^{n-1}(1+x)^{n-3} + x^n(1+x)^{n-3}] \\ &= x^n(1+x)^{n-3}(1+x) \\ &= x^n(1+x)^{n-2} \end{aligned}$$

Now by part (ii) and induction hypothesis,

$$\begin{aligned} G_{e_k}(P_n^* - \{2n\}, x) &= x^2[G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)] \\ &= x^2[x^{n-2}(1+x)^{n-4} + x^{n-1}(1+x)^{n-4}] \\ &= x^n(1+x)^{n-3} \end{aligned}$$

Theorem 3.7. Let $H_N = \{1, 3\}$ be a non- pendant edge of the centipede P_n^* , $n \geq 2$.

Suppose that $n \geq 3$. Then for every $n \leq i \leq 2n-2$, $g_{e_k}(P_n^*, i) = \binom{n-2}{i-n}$ and for every $n \leq i \leq 2n-3$, $g_{e_k}(P_n^* - \{2n\}, i) = \binom{n-3}{i-n}$.

Proof. We shall prove both equalities together by induction on n . We have the result for $n = 3$ from Table 2.1. Now suppose the results are true for all natural numbers less than n , and prove them for n . By theorem 2.5 and induction hypothesis we have,

$$\begin{aligned} g_{e_k}(P_n^* - \{2n\}, i) &= g_{e_k}(P_{n-2}^*, i-2) + g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \\ &= \binom{n-4}{i-n} + \binom{n-4}{i-n-1} \\ &= \binom{n-3}{i-n} \end{aligned}$$

Now by theorem 3.5,

$$\begin{aligned} \text{we have } g_{e_k}(P_n^*, i) &= g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_n^* - \{2n\}, i-1) \\ &= \binom{n-3}{i-n} + \binom{n-3}{i-n-1} \end{aligned}$$

$$= \binom{n-2}{i-n}$$

Corollary 3.8. Let $\mathbb{H} = \{1, 3\}$ be a non-pendant edge of the centipede P_n^* , $n \geq 2$. Then the following properties hold for coefficients of $G_{e_k}(P_n^*, x)$ and $G_{e_k}(P_n^* - \{2n\}, x)$ for every $n \geq 3$;

(i) $g_{e_k}(P_n^*, 2n-2) = 1, g_{e_k}(P_n^*, n) = 1$

(ii) $g_{e_k}(P_n^*, 2n-3) = n-2, g_{e_k}(P_n^*, n+1) = n-2$

(iii) $g_{e_k}(P_n^*, 2n-4) = \frac{(n-2)(n-3)}{2}, g_{e_k}(P_n^*, n+2) = \frac{(n-2)(n-3)}{2}$

(iv) $g_{e_k}(P_n^*, 2n-5) = \frac{(n-2)(n-3)(n-4)}{6}, g_{e_k}(P_n^*, n+3) = \frac{(n-2)(n-3)(n-4)}{6}$

(v) $g_{e_k}(P_n^* - \{2n\}, 2n-3) = 1, g_{e_k}(P_n^* - \{2n\}, n) = 1,$

(vi) $g_{e_k}(P_n^* - \{2n\}, 2n-4) = n-3, g_{e_k}(P_n^* - \{2n\}, n+1) = n-3,$

(vii) $g_{e_k}(P_n^* - \{2n\}, 2n-5) = \frac{(n-3)(n-4)}{2}, g_{e_k}(P_n^* - \{2n\}, n+2) = \frac{(n-3)(n-4)}{2}$

(viii) If $S_n = \sum_{i=n}^{2n-2} g_{e_k}(P_n^*, i)$ then for every $n \geq 3$, $S_n = 2(S_{n-1})$ with the initial value $S_2 = 2$.

(ix) If $S_n = \sum_{i=n}^{2n-3} g_{e_k}(P_n^* - \{2n\}, i)$ then for every $n \geq 4$, $S_n = 2(S_{n-1})$

Proof. The properties (i) to (vii) hold, by theorem 3.7.

Proof of (viii).
$$\begin{aligned} S_n &= \sum_{i=n}^{2n-2} g_{e_k}(P_n^*, i) \\ &= \sum_{i=n}^{2n-2} g_{e_k}(P_{n-1}^*, i-1) + \sum_{i=n}^{2n-2} g_{e_k}(P_n^* - \{2n\}, i-1) \\ &= \sum_{i=n}^{2n-3} \binom{n-3}{i-n} + \sum_{i=n+1}^{2n-3} \binom{n-3}{i-n-1} \\ &= 2 \sum_{i=n}^{2n-3} \binom{n-3}{i-n} \\ &= 2 \sum_{i=n}^{2n-3} g_{e_k}(P_{n-1}^*, i-1) \\ &= 2S_{n-1} \end{aligned}$$

Proof of (ix).
$$S_n = \sum_{i=n}^{2n-3} g_{e_k}(P_n^* - \{2n\}, i)$$

$$= \sum_{i=n}^{2n-3} g_{e_k}(P_{n-2}^*, i-2) + \sum_{i=n}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)$$

$$= \sum_{i=n-1}^{2n-4} \binom{n-4}{i-n} + \sum_{i=n+1}^{2n-3} \binom{n-4}{i-n-1}$$

$$= 2 \sum_{i=n+1}^{2n-3} \binom{n-4}{i-n-1}$$

$$= 2 \sum_{i=n}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)$$

$$= 2S_{n-1}$$

4. EDGE FIXED GEODOMINATING SETS OF $P_n^* - \{2n\}$ AND CENTIPEDES FOR PENDANT EDGES

For the construction of edge fixed geodominating sets of centipede P_n^* , we need to investigate the edge fixed geodominating sets of $P_n^* - \{2n\}$. In this section, we investigate edge fixed geodominating sets of centipedes. We construct $g_{e_k}(P_n^*, i)$ from $g_{e_k}(P_{n-1}^*, i-1)$ and $g_{e_k}(P_n^* - \{2n\}, i-1)$. The families of these edge fixed geodominating sets can be empty or otherwise. Thus we have four combinations, whether these two families are empty or not.

Lemma 4.1. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^* \mathfrak{B} \geq 2 \mathfrak{Q}$. For every $n \in N$:

- (i) $g_{e_k}(P_n^*) = n-1$
- (ii) $g_{e_k}(P_n^* - \{2n\}) = n-1$
- (iii) $\mathcal{G}_{e_k}(P_n^*, i) = \phi$ if and only if $i < n-1$ or $i > 2n-2$
- (iv) $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) = \phi$ if and only if $i < n-1$ or $i > 2n-3$

Proof. Proof is similar to 2.1.

Lemma 4.2. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^* \mathfrak{B} \geq 2 \mathfrak{Q}$. If $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) = \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) = \phi$ then $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) = \phi$

Proof. Proof is similar to 2.2.

Lemma 4.3. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^*_Q\mathfrak{3} \geq 2$. Suppose $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) \neq \phi$ then

- (i) $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) \neq \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) = \phi$ iff $i = n-1$
- (ii) $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) = \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \neq \phi$ iff $i = 2n-3$
- (iii) $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) \neq \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \neq \phi$ iff $n \leq i \leq 2n-4$

Proof. Proof is similar to 2.3

Theorem 4.4. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^*_Q\mathfrak{3} \geq 2$. Suppose $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) \neq \phi$,

- (i) If $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) \neq \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) = \phi$, then $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) = \{\{2n-1, 2n-2\} \cup X / X \in \mathcal{G}_{e_k}(P_{n-2}^*, i-2)\}$
- (ii) If $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) = \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \neq \phi$, then $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) = \{\{2n-1, 2n-2\} \cup X / X \in \mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)\}$
- (iii) If $\mathcal{G}_{e_k}(P_{n-2}^*, i-2) \neq \phi$ and $\mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) \neq \phi$, then $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i) = \{\{2n-1, 2n-2\} \cup X / X \in \mathcal{G}_{e_k}(P_{n-2}^*, i-2)\} \cup \{\{2n-1, 2n-2\} \cup X / X \in \mathcal{G}_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)\}$

Proof. Proof is similar to theorem 2.4.

Theorem 4.5. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^*_Q\mathfrak{3} \geq 2$. For every $n \geq 5$, $g_{e_k}(P_n^* - \{2n\}, i) = g_{e_k}(P_{n-2}^*, i-2) + g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)$

Proof. Proof is similar to theorem 2.5.

Lemma 4.6. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede ${}^*_Q\mathfrak{3} \geq 2$. If $\mathcal{G}_{e_k}(P_{n-1}^*, i-1) = \phi$ and $\mathcal{G}_{e_k}(P_n^* - \{2n\}, i-1) = \phi$ then $\mathcal{G}_{e_k}(P_n^*, i) = \phi$.

Proof. Proof is similar to Lemma 3.1.

$P_5^* - \{10\}$	0	0	0	1	3	3	1							
P_5^*	0	0	0	1	4	6	4	1						
$P_6^* - \{12\}$	0	0	0	0	1	4	6	4	1					
P_6^*	0	0	0	0	1	5	10	10	5	1				
$P_7^* - \{14\}$	0	0	0	0	0	1	5	10	10	5	1			
P_7^*	0	0	0	0	0	1	6	15	20	15	6	1		
$P_8^* - \{16\}$	0	0	0	0	0	0	1	6	15	20	15	6	1	
P_8^*	0	0	0	0	0	0	1	7	21	35	35	21	7	1

By similar way we can construct edge fixed geodominating sets corresponding to other pendant edges which are common to both \mathfrak{X} and ${}^*_Q - \{\mathfrak{B}\}$.

Theorem 4.10. Let e_k be a pendant edge which is common to both \mathfrak{X} and ${}^*_Q - \{\mathfrak{B}\}$.

Then;

(i) For every $n \geq 3$, $G_{e_k}(P_n^*, x) = x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)]$ with the initial values $G_{e_k}(P_2^*, x) = x + x^2$ and $G_{e_k}(P_3^* - \{6\}, x) = x^2 + x^3$.

(ii) For every $n \geq 4$, $G_{e_k}(P_n^* - \{2n\}, x) = x[G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)]$ with the initial values $G_{e_k}(P_2^*, x) = x + x^2$ and $G_{e_k}(P_3^* - \{6\}, x) = x^2 + x^3$.

(iii) For every $n \geq 4$, $G_{e_k}(P_n^*, x) = x^{n-1}(1+x)^{n-1}$, $G_{e_k}(P_n^* - \{2n\}, x) = x^{n-1}(1+x)^{n-2}$.

Proof of (i). By theorem 4.9,

$$g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_n^* - \{2n\}, i-1)$$

$$\sum_{i=n-1}^{2n-2} g_{e_k}(P_n^*, i) x^i = \sum_{i=n-1}^{2n-2} g_{e_k}(P_{n-1}^*, i-1) x^i + \sum_{i=n-1}^{2n-2} g_{e_k}(P_n^* - \{2n\}, i-1) x^i$$

$$G_{e_k}(P_n^*, x) = x \left[\sum_{i=n-1}^{2n-2} g_{e_k}(P_{n-1}^*, i-1) x^{i-1} + \sum_{i=n-1}^{2n-2} g_{e_k}(P_n^* - \{2n\}, i-1) x^{i-1} \right]$$

$$G_{e_k}(P_n^*, x) = x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)]$$

Proof of (ii). By theorem 4.5,

$$g_{e_k}(P_n^* - \{2n\}, i) = g_{e_k}(P_{n-2}^*, i-2) + g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2)$$

$$\sum_{i=n-1}^{2n-3} g_{e_k}(P_n^* - \{2n\}, i) x^i = \sum_{i=n-1}^{2n-3} g_{e_k}(P_{n-2}^*, i-2) x^i + \sum_{i=n-1}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) x^i$$

$$G_{e_k}(P_n^* - \{2n\}, x) = x^2 \left[\sum_{i=n-1}^{2n-3} g_{e_k}(P_{n-2}^*, i-2) x^{i-2} + \sum_{i=n-1}^{2n-3} g_{e_k}(P_{n-1}^* - \{2n-2\}, i-2) x^{i-2} \right]$$

$$= x^2 [G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)]$$

Proof of (iii). We shall prove both equalities together by induction on n . We have result for $n = 4$, because $G_{e_k}(P_4^*, x) = x^{4-1}(1+x)^{4-1} = x^3 + 3x^4 + 3x^5 + x^6$,

$G_{e_k}(P_4^* - \{8\}, x) = x^3(1+x)^2 = x^3 + 2x^4 + x^5$ Assume that the result is true for all natural numbers less than n . we prove the result for n . We have $G_{e_k}(P_{n-1}^*, x) = x^{n-2}(1+x)^{n-2}$,

$$G_{e_k}(P_{n-1}^* - \{2n-2\}, x) = x^{n-2}(1+x)^{n-3}.$$

Now by part (i) and induction hypothesis,

$$G_{e_k}(P_n^*, x) = x[G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_n^* - \{2n\}, x)]$$

$$= x[x^{n-2}(1+x)^{n-2} + x^{n-1}(1+x)^{n-2}]$$

$$= x^{n-1}(1+x)^{n-2}(1+x)$$

$$= x^{n-1}(1+x)^{n-1}$$

Now by part (i) and induction hypothesis,

$$G_{e_k}(P_n^* - \{2n\}, x) = \sum_{e_k \in E_1} x^2 [G_{e_k}(P_{n-2}^*, x) + G_{e_k}(P_{n-1}^* - \{2n-2\}, x)]$$

$$= x^2 [x^{n-3}(1+x)^{n-3} + x^{n-2}(1+x)^{n-3}]$$

$$= x^{n-1}(1+x)^{n-2}$$

Theorem 4.11. Let $e_k = \{1, 2\}$ be a pendant edge of a centipede $P_n^*, n \geq 2$. . Suppose that $n \geq 3$. Then for every $n-1 \leq i \leq 2n-2$, $g_{e_k}(P_n^*, i) = \binom{n-1}{i-n+1}$ and for every $n-1 \leq i \leq 2n-3$, $g_{e_k}(P_n^* - \{2n\}, i) = \binom{n-2}{i-n+1}$.

Proof. Proof is similar to theorem 3.7.

Corollary 4.12. Let $e_k = \{1, 2\}$ be a pendant edge of the centipede $P_n^*, n \geq 2$. Then the following properties hold for coefficients of $G_{e_k}(P_n^*, x)$ and $G_{e_k}(P_n^* - \{2n\}, x)$ for every $n \geq 3$;

- (i) $g_{e_k}(P_n^*, 2n-2)=1, g_{e_k}(P_n^*, n-1)=1$
- (ii) $g_{e_k}(P_n^*, 2n-3)=n-1, g_{e_k}(P_n^*, n)=n-1$
- (iii) $g_{e_k}(P_n^*, 2n-4)=\frac{(n-1)(n-2)}{2}, g_{e_k}(P_n^*, n+1)=\frac{(n-1)(n-2)}{2}$
- (iv) $g_{e_k}(P_n^*, 2n-5)=\frac{(n-1)(n-2)(n-3)}{6}, g_{e_k}(P_n^*, n+3)=\frac{(n-1)(n-2)(n-3)}{6}$
- (v) $g_{e_k}(P_n^* - \{2n\}, 2n-3)=1, g_{e_k}(P_n^* - \{2n\}, n-1)=1$
- (vi) $g_{e_k}(P_n^* - \{2n\}, 2n-4)=n-2, g_{e_k}(P_n^* - \{2n\}, n)=n-2$
- (vii) $g_{e_k}(P_n^* - \{2n\}, 2n-5)=\frac{(n-1)(n-2)}{2}, g_{e_k}(P_n^* - \{2n\}, n+1)=\frac{(n-1)(n-2)}{2}$
- (viii) If $S_n = \sum_{i=n-1}^{2n-2} g_{e_k}(P_n^*, i)$ then for every $n \geq 3, S_n = 2(S_{n-1})$ with the initial value $S_2 = 2$.
- (ix) If $S_n = \sum_{i=n-1}^{2n-3} g_{e_k}(P_n^* - \{2n\}, i)$ then for every $n \geq 4, S_n = 2(S_{n-1})$ with the initial value $S_2 = 2$.

Proof . proof is similar to corollary 3.8.

Theorem 4.13. Let $e_k = \{2n-1, 2n\}$ be a pendant edge of P_n^* which is not an edge of $P_n^* - \{2n\}$ Then for every $n \geq 4$ and $i \geq n-1$

- i) If $\mathcal{G}_{e_k}(P_n^*, i)$ is the family of edge fixed geodominating sets of P_n^* with cardinality i , then $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$
- ii) $G_{e_k}(P_n^*, x) = x^2 G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_{n-1}^*, x)$
- iii) $G_{e_k}(P_n^*, x) = x^{n-1}(1+x)^{n-1}$

Proof. i) Consider the edge fixed geodominating sets of P_n^* with cardinality i . For the edge $e_k = \{2n-1, 2n\}$, the corresponding edge fixed geodominating sets of P_n^* do not contain the two vertices $2n-1, 2n$. By lemma, edge fixed geodominating sets of P_n^* must contain $n-1$ vertices. Now there remains $n-1$ vertices and we have to choose i vertices from these $n-1$ vertices. Therefore, there are $\binom{n-1}{i-n+1}$ edge fixed geodominating sets in P_n^* with cardinality i . $g_{e_k}(P_n^*, i) = \binom{n-1}{i-n+1}$. By

the similar argument , we have $g_{e_k}(P_{n-1}^*, i-1) = \binom{n-2}{i-n+1}$ and $g_{e_k}(P_{n-1}^*, i-2) = \binom{n-2}{i-n}$. But $\binom{n-1}{i-n+1} = \binom{n-2}{i-n+1} + \binom{n-2}{i-n}$.

Therefore $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$

ii) By (i) above , we have $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$

$$i = n-1 \Rightarrow g_{e_k}(P_n^*, n-1) = g_{e_k}(P_{n-1}^*, n-2) + g_{e_k}(P_{n-1}^*, n-3) \Rightarrow$$

$$x^{n-1}g_{e_k}(P_n^*, n-1) = x^{n-1}g_{e_k}(P_{n-1}^*, n-2) + x^{n-1}g_{e_k}(P_{n-1}^*, n-3)$$

.....

$$i = 2n-2 \Rightarrow g_{e_k}(P_n^*, 2n-2) = g_{e_k}(P_{n-1}^*, 2n-3) + g_{e_k}(P_{n-1}^*, 2n-4) \Rightarrow$$

$$x^{2n-2}g_{e_k}(P_n^*, 2n-2) = x^{2n-2}g_{e_k}(P_{n-1}^*, 2n-3) + x^{2n-2}g_{e_k}(P_{n-1}^*, 2n-4)$$

Adding all these, we get

$$\sum_{i=n-1}^{2n-2} g_{e_k}(P_n^*, i)x^i = x \sum_{i=n-2}^{2n-4} g_{e_k}(P_{n-1}^*, i)x^i + x^2 \sum_{i=n-2}^{2n-4} g_{e_k}(P_{n-1}^*, i)x^i$$

Therefore, $G_{e_k}(P_n^*, x) = xG_{e_k}(P_{n-1}^*, x) + x^2G_{e_k}(P_{n-1}^*, x)$

iii) By induction on n . The result is true for $n=4$, because

$G_{e_k}(P_4^*, x) = x^3 + x^4$. Assume that the result is true for all natural numbers less than n .

We prove the result for n . We have $G_{e_k}(P_{n-1}^*, x) = x^{n-2}(1+x)^{n-2}$.

$$\text{Now } G_{e_k}(P_n^*, x) = xG_{e_k}(P_{n-1}^*, x) + x^2G_{e_k}(P_{n-1}^*, x)$$

$$= x[x^{n-2}(1+x)^{n-2}] + x^2[x^{n-2}(1+x)^{n-2}]$$

$$= x^{n-1}(1+x)^{n-1}$$

Therefore, the result is true for all n .

Theorem 4.14. Let $e_k = \{2n-3, 2n-1\}$ be a non-pendant edge of P_n^* which is a pendant edge of $P_n^* - \{2n\}$. Then for every $n \geq 4$ and $i \geq n$,

- i) If $\mathcal{G}_{e_k}(P_n^*, i)$ is the family of edge fixed geodominating sets of P_n^* with cardinality i , then $g_{e_k}(P_{n-1}^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$
- ii) $G_{e_k}(P_n^*, x) = x^2G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_{n-1}^*, x)$
- iii) $G_{e_k}(P_n^*, x) = x^n(1+x)^{n-2}$
- iv) $G_{e_k}(P_n^* - \{2n\}, x) = x^{n-1}(1+x)^{n-2}$

Proof of (i). Consider the edge fixed geodominating sets of P_n^* with cardinality i . By lemma, edge fixed geodominating sets of P_n^* must contain n vertices. Now there remains $n-1$ vertices and we have to choose i vertices from these $i-n$ vertices. Therefore, there are $\binom{n-1}{i-n}$ edge fixed geodominating sets in P_n^* with cardinality i . Therefore $g_{e_k}(P_n^*, i) = \binom{n-1}{i-n}$. By the similar argument, we have $g_{e_k}(P_{n-1}^*, i-1) = \binom{n-2}{i-n}$ and $g_{e_k}(P_{n-1}^*, i-2) = \binom{n-2}{i-n-1}$. But $\binom{n-1}{i-n} = \binom{n-2}{i-n} + \binom{n-2}{i-n-1}$. Therefore, $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$

Proof of (ii). By (i) above, we have $g_{e_k}(P_n^*, i) = g_{e_k}(P_{n-1}^*, i-1) + g_{e_k}(P_{n-1}^*, i-2)$
 $i = n \Rightarrow g_{e_k}(P_n^*, n) = g_{e_k}(P_{n-1}^*, n-1) + g_{e_k}(P_{n-1}^*, n-2) \Rightarrow$
 $x^n g_{e_k}(P_n^*, n) = x^n g_{e_k}(P_{n-1}^*, n-1) + x^n g_{e_k}(P_{n-1}^*, n-2)$

.....

$i = 2n-2 \Rightarrow g_{e_k}(P_n^*, 2n-2) = g_{e_k}(P_{n-1}^*, 2n-3) + g_{e_k}(P_{n-1}^*, 2n-4) \Rightarrow$
 $x^{2n-2} g_{e_k}(P_n^*, 2n-2) = x^{2n-2} g_{e_k}(P_{n-1}^*, 2n-3) + x^{2n-2} g_{e_k}(P_{n-1}^*, 2n-4)$

Adding all these, we get $\sum_{i=n}^{2n-2} g_{e_k}(P_n^*, i) x^i = x \sum_{i=n-1}^{2n-4} g_{e_k}(P_{n-1}^*, i) x^i + x^2 \sum_{i=n-1}^{2n-4} g_{e_k}(P_{n-1}^*, i) x^i$

Therefore, $G_{e_k}(P_n^*, x) = x^2 G_{e_k}(P_{n-1}^*, x) + G_{e_k}(P_{n-1}^*, x)$

Proof of (iii). By induction on n . The result is true for $n=4$, because $G_{e_k}(P_4^*, x) = x^4 + x^5$. Assume that the result is true for all natural numbers less than n .

We prove the result for n . We have, $G_{e_k}(P_{n-1}^*, x) = x^n(1+x)^{n-2}$.

$$\begin{aligned} \text{Now } G_{e_k}(P_n^*, x) &= xG_{e_k}(P_{n-1}^*, x) + x^2G_{e_k}(P_{n-1}^*, x) \\ &= x \left[x^{n-1}(1+x)^{n-3} \right] + x^2 \left[x^{n-1}(1+x)^{n-3} \right] \\ &= x^{n-1}(1+x)^{n-3} x[1+x] \\ &= x^n(1+x)^{n-2} \end{aligned}$$

Therefore, the result is true for all n .

Proof of (iv). Proof is similar to (iii).

Remark:

By similar way we can construct edge fixed geodominating sets for other non-pendant edges.

5. TOTAL EDGE FIXED GEODOMINATION POLYNOMIAL OF CENTIPEDES AND $P_n^* - \{2n\}$

Theorem 5.1.

(i) For every $n \geq 2$, $G_t(P_n^*, x) = x^{n-1}(1+x)^{n-2}((2n-1)x+n)$

(ii) For every $n \geq 3$, $G_t(P_n^* - \{2n\}, x) = x^{n-1}(1+x)^{n-3}((2n-2)x+n)$

Proof of (i). P_n^* has $n-2$ non-pendant edges which are common to P_n^* and $P_n^* - \{2n\}$, $n-1$ pendant edges which are common to P_n^* and $P_n^* - \{2n\}$, one pendant edge of P_n^* which is not an edge of $P_n^* - \{2n\}$ and one non-pendant edge of P_n^* which is a pendant edge of $P_n^* - \{2n\}$.

$$\begin{aligned} G_t(P_n^*, x) &= (n-2)x^n(1+x)^{n-2} + (n-1)x^{n-1}(1+x)^{n-1} + x^{n-1}(1+x)^{n-1} + x^n(1+x)^{n-2} \\ &= (1+x)^{n-2}x^{n-1}[(n-1)x+n(1+x)] \\ &= x^{n-1}(1+x)^{n-2}[(2n-1)x+n] \end{aligned}$$

Proof of (ii). $P_n^* - \{2n\}$ has $n-2$ non-pendant edges which are common to P_n^* and $P_n^* - \{2n\}$, $n-1$ pendant edges which are common to P_n^* and $P_n^* - \{2n\}$ and one pendant edge which is a non-pendant edge of P_n^* .

$$\begin{aligned} G_t(P_n^* - \{2n\}, x) &= (n-2)x^n(1+x)^{n-3} + (n-1)x^{n-1}(1+x)^{n-2} + x^{n-1}(1+x)^{n-2} \\ &= (1+x)^{n-3}x^{n-1}[(n-2)x+n(1+x)] \\ &= x^{n-1}(1+x)^{n-3}[(2n-2)x+n] \end{aligned}$$

REFERENCES

- [1] S. Alikhani and Y.H. Peng, Introduction to Domination Polynomial of a Graph, arXiv:0905.2251v1[math.CO] 14 May 2009.
- [2] Alikhani. A, and Peng Y.H., Dominating sets of centipedes, Journal of Discrete Mathematical Sciences and Cryptography, Vol.12 (2009).

- [3] J.A. Bondy, U.S.R. Murty, Graph theory with applications, Elsevier Science Publication Co. Sixth printing, 1984.
- [4] Byung Kee Kim, The geodetic number of a graph, *J. Appl. Math. & Computing*, Vol. **16**(2004), No. 1 - 2, pp. 525 - 532 .
- [5] G. Chartrand and P. Zhang, Introduction to Graph Theory, MC GHill, Higher education, 2005.
- [6] F.M.Dong and Teo., Chromatic polynomials and chromaticity graphs, World Scientific Publication Co. Pt. Ltd. 2005.
- [7] F.Harary, Graph Theory, Addison Wesley 1969.
- [8] A.P. Santhakumaran and P.Titus, The edge fixed geodomination number of a graph, *An. St. Univ. ovidius constanta*, Vol. 17(1), 2009, 187-200.
- [9] A.Vijayan and T. Binu selin, An introduction to geodetic polynomial of a Graph, *Bulletin of pure and applied sciences*, Vol 31E(Math &Stat.)Issue (No.1) 2012 : p.31-38
- [10] A.Vijayan and T. Binu Selin, On total edge fixed geodomination polynomial of graphs, *International journal of mathematical archieve*-3(4)-2012, page 1495-1501